ERB0FE/NFRIRAETKEFESR

STREFHEOBE

RETKEFERET
FTERE
(AL F)
X o) # E BT O % w0k %  E ® O %8
ESNIVN 3,604,222 A 9,169 3,495,063
EARBIXA 1,925,620 692,589 2,618,209
&t 5,429,842 683,420 6,113,262
FBEFIS | AHTKEFERFIBETFE (B25)
IR B9 3 H 3,346,550 29,710 3,376,260
BRI H 2,673,864 692,780 3,366,644
&t 6,020,414 722,490 6,742,904
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I A (BT FH) X H (BT FH)
% MEM®DE @ F 8 WEBROE = MEMDE @ F 8 WEBROE

1T FKBEEZEINGE 3,504,222 A 9,169 3,495 053 1 FAKBEEXER 3, 346, 550 29,710 3,376, 260
£t 3,504,222 A 9,169 3,495 053 £t 3, 346, 550 29,710 3,376, 260

BEARHINA KR T H

X A (B4 FM) * H (B4 FM)
% WERDEE @ F %8 HIEBOE % MEMDEE @ F 28 HIEBOE

1 BAMUNA 1,925, 620 692,589 2, 618, 209 1 BAWZH 2, 673, 864 692, 780 3, 366, 644
=t 1,925, 620 692, 589 2, 618, 209 =t 2,673, 864 692, 780 3, 366, 644
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N 2% RO R A (B4 FF)
=% X A & . T 4 = BEMOE RMEE BEROE #Hu424L
: HEBROHEE HERAEICLY, B, MMCAECElCED e s
TAKBEEZENE ERE S A 9,169 A 9 169 (T
N2 97 H (B4 FF)
=% W E % % % T 4 = BEMOE RMEE BEROE #Hu424L
TKEELE gfg*ﬂwﬁ% SR K5 B % 58 03B 29. 710 29,710 {3 4 EE
= 2NN (B4 F)
=% X A & . T 4 = BEMOE RMIEE BEROE #HL424L
Qé**ﬁﬁg@ BN S ELE DB & 5 R 879, 900 346,200 1,226, 100 2 pEE
FREBA  sasmmean
ﬁ'g =R E 2 HENREBEXEDBMNIC K 5155 730, 069 346, 389 1,076, 468 R~KkEE
EARNZH (B4 F)
=5 W E 2 % % T B P BEMOE RMIEE BEROE #HL424L
EEBEOEEEED - HOEHRSEEETNR T
ERXNZH MKEEERREE /\TR1 SBELER LEHHEDOSZKIEEREDLHD 1,519, 813 692, 780 2,212,593 Tk&EE

EREHFIHRL2IEEDEM
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(CEND! (BAT : F)
% 15 z % £ @ @ g £ B @ B =
TR0 553, 575
A I
J\TFR % i /%7 X 7 FE
REEME (oL T 1. 546, 655 T3
) TH) 324 993, 080
BAHTH BRUEE
T304 108, 416
MKEREmEE
(+ BB KAk ek 867, 658 T3
HIE)
T3 759, 242
TEBEDOFEE
(&) (A7 FA)
" W T A w T %
g ® o B B B E @ B E 4@
AETFkERRSE 879, 900 1,226, 100




